BEEMR S Q&A

1 ERRBREEIRR S/ ? FRREN 52 /N - A6 44 /& 2
A DIABERE BSHHEAE > 105 FLUR ASEH [ 44 /NEF - 104 5 (&) LLAT
52 /\HF -

2 —FRESNBFERBIF R ERERE 7] LEAEB R R B EAS ?
ALl —ERFRZPOETEERS (A S LIRBSRENRED FA LIE—
AR B VU BER IR T T GRS

3 AWRLLI TR DUEITE SRR ? R EEE RIS ? BRI 7
AT ERRF or REUSR e plr ~ a0 (AT ~ SRR
BEEHEME - A EEEEA R T > SR RS 21 LE E H T AL
S S e B B2 2 A G (R e A L i e (R B R Al 5w T 5
IRty IRe= -

RSB H ERETT - FIRFTSIISERE A BT IS A S5 faltthRh - 557E
ERHHEREERAA TS - IRBiran ey - Rfg MRS Al B (LR > 5 TR R
1E - 70T ~ Rt > RSB EE(E AR - WS IR -

FEFIF AR > BORATL R A BA NAHRARS SResde - WRAERE 3 LEIE2LA
E AR EIRAR S - MR TBCE AR LA R TR - R T EE

FAGELEY Y

4. JIR S e B A T B R R 2
A: 1A RIS B 7S TR T R SIS B WS IR S 2 R
B R A B - S BRI S FRIRBIS ST SR 24
FE A L T [ A 2 B R SRR S RS L I
(BB ks 2 B R B NS B — ] IR IR
iy 2 3 L AR A 2 A TR

2 S E 2 R B I TE A (R U AR S A B B s A T T B B G
BEEL 2 (A E M A AT AR R AN NS S BRI B E A
LSR5 A BRI 23 » 5 B BhAG AACIRR » B ETA
EARRE R o 4



